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2.5 Reason Using Postulates From Algebra

Goal: Use algebraic properties in logical arguments.

a+bh=h+ta
a+* (bec) = [a4h) *¢
ab. =0 b
:3.‘01*(:-;\ ;

Dear Math,
| am Sick and tired of {inding Your "X".
Just accePt +he fact that 5he is gone,
MOVE ON, DuDE.

Algebraic Properties of Equality

Let a, b, and c be real numbers.

§§ L
Addition Property Ifa=b,thena+c=»b+c.
5t+a=5+2
77
Subtraction Property Ifa=b,thena—c=b—-c
-2 5-2
3=3
Multiplication Property  If a = b, then ac = bc.
SA=652
10=10
Division Property Ifa=bandc+0,then? = %
5.5
. 2
‘Lf:‘-?

Substitution Property If a = b, then a can be substituted for b

in any equation or expression.
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Solve the equation and write a reason for each step.

Ed8uaTioN REASON
4x+9=-3x+2 GIVEN
7x+94 =2 ADDITIioN POE
7x == SURTRAcTTION TO.C.
X = -\ DIVIS_TOM 'F.O-G,\

Solve the formula 4= %bh for b.

E«uation REAIN
A=tk GIVEW

MULTIPLICATI6N POE-

1A= bh
f
A%k

vy P06

Distributive Property

a(b +'c) = ab + ac, where a, b, and c are real numbers.

Solve the equation and write a reason for each step.

E QUATION IZC:ASOU
-4(11x + 2) = 80 GCIVEN
-44x-R =0 DISTRIRCTIVE POE
~4Mx =33 AD PITION PoS
X=-a Pivrirow PokE
EQUATION _REASON
G IVEN
14x + 3(7 - X) =-1
My +2)-2x =-| DISTRIRVILE Po.E.
Nx 432\ = -\ CompLnNE (GkE TERMY
Ix =% SURTRA(TDN P.D.C.

X = -a DIVISIOM C.0E.
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Eﬂexive Property of Equality

Real Numbers For any real number a, a = a.
CD=CD mLIA=mlA ‘i’ % %}‘éu%
5=5%

Segment Length  For any segment AB, AB = AB.

Angle Measure For any angle A, mZA = mZA.

Symmetric Property of Eq uality)

Real Numbers For any real numbers a and b{ifa = b, then b = a.

if 60 =30+30, then30+30=60 Kx +3:(9 +|,.,,9:9xe3

Segment Length For any segments AB and CD, if AB = CD, then CD = AB.

Angle Measure For any angles A and B, if m£A = mZB, then
msZB = mZA.
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trransitive Property of Equali@

Real Numbers For any real numbers a, b, and c,\ifa =b ané)

(bzc,thenazc;)
X=Y AN y=2 +hen =2z

Segment Length  For any segments AB, CD, and EF, if AB = CD
and CD = EF, then AB = EF.

Angle Measure For any angles A, B, and C, if mZA = mZB and
msZB=msC,then mZA=m<C.

Name the property of equality the statement illustrates.

IfmzsZ6 =ms7, thenms£Z7 = mZ6.
If JK = KL and KL = 12, then JK = 12.
msW=msLW
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HW: PG 100 #'s 3-19 odds,
21-25, 30-32

“mmlﬂmmmtl“'
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